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94 0

ami Qlfl I = roe-px

h = ep

I

In  2000 = /J (1 lW.)

1000

In  2 = p (1 W.)

/A= In2 = 0.693 = 0.693 YU.-’

1 JOJ. 1 JOJ.
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= 0.693 (WJ.)-' = 0.078 Qliu=ltl~~

8.9 ("ilJ/%u-3)

x (0.693 W-j (63.6 fl%/f&~Ja~cal~,u)

(89 "$tiaJ3)  (6.02 x 10" iX~~~xl/fh~~:waoJ)
- 2 4

= 8.2 x 10 J3J2fe)~:w~u

M

= (29 i%&m~U/tmn~)(3  WJ.)@.~  fr%/w.~J.)(60.2  x lo=' Bm~~~/fli%Ja:w~U

(63.6 f%l/tl%~sJaZ~DsJ)
24 4 <

= 7.3 x 10 blnRm38U/CH41=

9. 1 = I,e -!-Lx.

- 2 5
= (2.8 x 10 wJ2/i%hlsau)(7.3 x 1o24 ik%l~40U/~sJ2)

-2  079
= (2000)e = 2000 x 0.125 = 2.50 b+?~~pd
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I EK = hV-B.E.
I



ICOKeV
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Ah = 0.0243 (1  - cm 0)

IL’  = h+ Ah
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= 12.4 = 0.059 A0

210 KeV

fl,5lll~"wrrllaaus~na,~",a"~~

Ah = 0.0243(1 -cos$)
= 0.0243 (1 - cos 80’) = 0.0243 (1 - 0.174)

= 0.02 A0

naluu,andwwoJr~Ploun~~~~  (A’, %i,&d

IL’  = h+Ah
= 0.059 + 0.02 = 0.079 A0

wa”mdwo~%dmown~wQ~

hV’  = 12.4

h’

= 12.4 = 160 KeV

0.079 A0

wa's9lpdslo4no4J~a'w~~~~~~0~  G

& = hV-hV'

= 210- 161 = 50 KeV

hV

= 12.4 = 0.62 A”

20 KeV
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h = 12.4

hV

= 12.4 = 0.0062 A”
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hV’  = 12.4

= 12.4 = 226 KeV
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hV = 12.4 I h

= 12.4 / 0.0243 fi: 511 KeV
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2

= 5 - 1.02 = 1.99 MeV
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